module 1 lessons 6 practice.notebook September 29, 2016

Agenda:

1) Bell Ringer: page 83b

‘* 2) Go over p. 80

3) Lesson 6: Numbers in Scientific Notation
EQ: What is scientific notation? Why is it used?
How do you convert numbers into scientific
notation?

*’ Practice pages 75-76, Pairs Check page 81

*r 4) Homework: page 85-86
5) Exit Ticket (p.77 #1-5)
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{73

Name __ . Dbate

Write each number in standard format.

3443 x 10'T = . O00000 344D

7.75763 x 10" 0000001757k 3

. 000000 5%

I

5.8 x 10"

|52 5000.

1525 x 10°

6.58157 x 10’ 65315700

Oct 1-10:51 AM
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51821 x 10" = _o00051&2!
1.21 x 10" = .0 00000 /21
5,231.4%‘ 10_? = .000000 5 2314
7141 x10° = . 0000 !
5256 x 10° = 5,250,000

@ .

Oct 1-10:51 AM
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p. 9

Write each number in scientific notation.

-2
007882 = 7. €L %10
. L
0.00000272338 = 2.1723%8 s =
| 5

a0~ = [I§ X0

£ _
2.78L xlo .

000002786
0.000000664 =

g U

-7
CLY X1 « on

1
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a0 = %S
" 7 7. X--/Og‘-
THTLT = Y171
770 . . .= 2.7 %18
—b
- 8.3 % /0

00000085

Oct 1-10:48 AM
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Practice

Cirdde the ietier of the best gnsvean
1. Mars is about 141,600,000 mi from the

in scientific naotation?

A 1416 % 105 € 1.416 x 107

g {416 105 D 1416 x 10°

2. A foot is equal to 1.5 x 1077 chains. In

to one foot?

F 0.0015 H 0.5

G 0015 ] 150

\

" an all-time high attendance of 1.2 x 107
people. What was the attandance, in
standard form, for the 2005-2006
Broadway season?

A 120,000 C
B 1,200,000 D

12,000,000
120,000,000

Sun. What is Lthis number cf miles written

decimal form, how many chains are equal

3. The 2005-2006 Broadway season brought

i I e MM e

6. Which of these numbers has the greatest
value?

F 421 %103 H 508 %1079

G 3.6x103% J 236x10°3

7. An angstrom is a measure of length
equal to 4 ¥ 10%in. In inches, what
is the measure of an angstroam in
standard form?

A 00000000004 C 0.0000004
B 0.000000004 D 0.000004

8. Which of these countries has Lhe least
population?

F Bangladesh, 1.474 % 108
G China, 1.313 % 10°
H India, 1.112 % 10°
J  United States, 2.98 x 108

Oct 1-10:50 AM
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4. What is 0.002702 written in sqiéntific g rimiasyhiig Faclhngih gF BRREHA

B ]

ol B 0.038 in. and 0.41 In. What are these
F 2702 %10 % H 2702 x 10 values in scientific notation?
G 2702 x 1075 J 2.702 x 1077 A 38 x10"%and4.4 x 1072

38 % 1072and 4.1 x 107

5. New Croton Dam has & ca pacity of
71,900,000 m*. What is this number of
cubic meters written in scientific notation?

A 7.19x107 € 739X 109

B
¢ 3.8 x10-2and4.1 x 1072
D

38 % 10°3and 4.1 x 107"

g i A W B

B 7.19x 108 D 7.19 x 101°

)
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